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C
PV (growing perpetuity) = . (4.10)

1+ g\"
PV (annuity of C for N periods with interest rate r, growing at rate g) = CX — (1 — (1 n f) >

Equivalent n — period discount rate = (1 +r)" — 1 (5.1)

APR\*

Free Cash Flow = EBIT (1 — T;) + Depreciation — CapEx — ANWC (8.5)

YTM, = (ﬂ)n —1  (63)

P
P =CPN 1(1 ! )+ ild (6.5)
= X—11- .
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P = PV(Bond cash Flows) CPN + CPN 4ot CPN + FV (6.6)
- Ona cash FLOWS) =Ty, T (1 + YTM,)? (1 + YTM)V '
(1 4+ YTMy)V
= -1 6A.2
fn (1+YTMy_ N1 ( )
A+ f)xA+ fi)x.x(A+f)=0Q+YTM)" (64.3)
Divy, P, —P,
=—F— 9.2
Ty Py + Py (9.2)
_ Divg Div, Divy Py
Fo = 1+1g | (1+rp)? (+rp)V  (1+rp)V (9.4)
Div,
0= (9.6)
TE—4g

Div, = EPS,xDividend Payout Rate, (9.8)
g = Retention rate XReturn on New Investment (9.12)

PV (Future Total Dividends and Repurchases)

= 9.16
0 Shares Outstanding, ( )

Expected Return = E(R) = Z Pr XR (10.1)
R

Var(R) = E [(R - E(R))Z] = Z pex(R—ER))* ; SD(R) = /Var(R) (10.2)

T

_ 1 1

R =2 (Ry + Ry + -+ Rp) =72Rt (10.6)
t=1

(4.11)



Var(R) = %Z(Rt B2 (10.7)

value of investment i

;= 11.1
X = Lotal value of portfolio S

E(R,) = Z_xi E(R)) (11.3)
cov(R,R) = E (R — ER)) (R, — E(R))]  (114)

1 _ _
cov(R;, R;) = mzt(Ri,t -R)(R,—R) (1L5)

cov(Rl, ])

SD(R)SD(R;) (11.6)

corr(Rl, ]) =

Var(Rp) = x#Var(R,) + x5Var(R,) + 2x;x,cov(Ry, Ry) =
=x2Var(R,) + x2Var(R,) + 2x,x,corr(R,,R,)SD(R,)SD(R,) (11.8 and 11.9)

Portfolio Excess Return E(Rp) — 17
Portfolio Volatility ~ SD(R,)

Sharpe Ratio = (11.17)

_ SD(Rcorr(RyRp)

Bl = ) (11.19)

ER) =1, =17+ BX(E[Rype] —77)  (11.22)

cov(Rp, RMkt) Z
= 11.24
P Var(Ruwe) *iby ( )

ry=y—pL (12.7)

E D
Ty = W, g + W, rp = Pre — tax WACC (12.8),(14.6),(18.6)
£ + 2 (12.9), (14.8)
'BU_E+DBE E+DBD AT
E
TWACC = E T D TE + E T D T‘D(l - Tc) (12.12), (18.1)

D
g =1y + z (ry —1p) (14.5),(18.10)

Be=But 3 Bu—F) (149

(1-T)(A -Tg)

=1 — ¢ F (15.7)
Q-1
Ty — T,
T = 15_ Tf (15.9)
L

VL = VY + PV (Interest Tax Shield) — PV (Financial Distress Costs) — PV(Agency Costs of Debt)
+ PV (Agency Benefits of Debt) (16.3)

Net Borrowing Datet = D, — D,_,  (18.8)

FCFE = FCF — (1 — T;)xInterestPayments + Net Borrowing  (18.9)



